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Use a 2 m length of the Victorian coaxial transmission line to create a TL circuit with
Ve=20£0°V, Z,=50-;10 Q, and Z; = 100 — ;50 Q2 operating at 2.5 GHz. Find: a) the
load reflection coefficient, b) input reflection coefficient, ¢) V,", d) the general phasor
voltage & current equations.

2 —>

2 —50 /’/26 2.0 70‘/‘_

O
Vy =20/9°V 3= So i e
- 2.5 xi0” Ha
f : PAIZ—IW /Z
&) (235) 7 = 2-2 _ (ppo-jse)- (501926 1) 0,0301)
” L 2Lt (/00 J.So){— (se. /‘ﬂéfjaozef)

[ 1] = o495y (266781~

L) (292) [7 = [l2) =17 & 272 (omto |-2679) A )2
L 025231005

e /+0,2523L9Z_3,7°)
<) 2= T = (500426 oot )(/_0,25 73 (5237

— ¢/0,7é+d' 2/.8(S8 A

S0.96 +) 21916

/—_—’——-_,_/'
KZIV‘#‘?C Vin = (/ 22+2 = [ZOL>(50—J/°)(‘/07(*J2/'9/4)
SiS1on >4
\/;A:/O»/IQ?L_‘_G_E/ v
1189 ) 20.637°
Vir = (0119202 {o,;43+, 82:3)2

T =
— _b»j - y o
o c)ce e e(o/ﬁgez.?) 0. 446 1-26.2

th
V7= 7.6783|1108%"




EE 481/581 Microwave Engineering, Victorian coax TL circuit 2 SGHz.docx 2/2

d) (262 V/(z) = U* e’)’?f ﬁcb’z}

_ (0/¢/z+ 2. ?)% )2
Viz)= (7&76’{ 1/0,88° \/ 2 (o za) (0193 +5©2. g

PR

r - °
{Z.Q%) Ilz)= Lo e X%_ ,—.eb’% :7678&//0.38 e_)»} ’s
Zo So./142¢ (0.099° -re

I(?) >(o,/53/[-//o,72")[ C:[p””“ez 7)_?_ (o.4964/-26.7 79§13 /82, ?)] /
%oﬂt va lid ;4/ —-2Zm &£ 2 <O




